Practice Test
1. What is a pointer? Declare and initialize a pointer. Provide example(s).

2. What is the output of the following programs:
a) int number = 99;

int *pnumber=&number;//address of number is 0012FF7C
cout<<number<<*pnumber<<&pnumber;

b) char c[]=”Hello you”;

char *sPtr=c;

for(;*sPtr!=’u’;sPtr++)

cout<<*sPtr;

c) int a[]={1,2,3,4,5};

int*ptr=a;

cout<<a[3]<<*(ptr+3)<<ptr[3];

d) char x[]=”It is a nice day”;

char y[25];

char z[15];

cout<<x<<strcpy(y,x);
strncpy(z,x,9);

z[9]=’\0’;

cout<<z<<endl;

e) char *s1= ‘’C++ is fun’’;

char *s2=’’C++ is fun everyday’’;
if(strncmp(s1,s2,10)==0)

cout<<”Equal”;
else

cout<<”Not equal”;

f) char *s=”You are great”;
cout<<strlen(s);
3. Write a program that adds, subtracts, divides and multiplies two variables using their pointers. 
4. Write a program that uses a function cube. It should return the cube of the number. Pass the address of the pointer to the function.
5. Fill in the blanks in each of the following:

a) Suppose a and b are integer variables and we form the sum a+b. Now suppose c and d are variables of a user defined class Complex and we form the sum c+d. The two addition operators are clearly being used for different purposes. This is an example of __________________________________.

b) Keyword ________________ introduces an overloaded operator function definition.

c) If the class Alpha inherits from the class Beta, class Alpha is called the ________________ and the class Beta is called the _______________ class.

d) By using keyword _____________ instead of _______________to declare data members of your class, you create class members that are private to their class but they can still be inherited and accessed by a derived class.

e) When a class inherits another it uses this general form(state the form):

…………………………………………………………………………………..

f) (True/False) In C++, only existing operators can be overloaded.

g) (True/False) A friend function can access an object of a class by using this pointer.

6. What is the output of the following program:

#include <iostream>

using namespace std;

class base2{

public:


void set(int a, int b)



{i=a; j=b;}


void print() {cout << i<<” “<<j<<”\n”;}

protected:


int i;



int j;

};

class derived2: public base2{

public:


void setk() {k=i*j;}


void printk() {cout <<k<<”\n”;}

private:


int k;};

int main(){


derived2 ob;


ob.set(2,3);


ob.print();


ob.setk();


ob.printk();

return 0;}

b) #include <iostream>
using namespace std;

class box{


public:



box(double=1.0, double=1.0,double=1.0);



double Volume()const;



bool operator>(box);


private:



double length;



double width;



double height;};

box::box(double l, double w, double h){


length = l;


width = w;


height = h;}

double box::Volume()const{


return length*width*height;}

bool box::operator >(box abox){


return Volume()>abox.Volume();}

int main(){


box small(4.0, 2.0, 1.0), medium(5.0, 3.0, 2.9);


if (medium>small) cout << "medium box is bigger"<<endl;



else cout << "small box is bigger"<<endl;


return 0;

}

